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PART A: Vocabulary

Directions: Questions 61-70 are incomplete sentences. Beneath each sentence you will see four words or phrases marked (1), (2), (3) and
4). Choose the one word or phrase that best completes the sentence. Then mark the correct choice on your answer sheet.

61- Her husband’s success hasn’t affected her ... toward old friends.

1) beauty 2) strategy 3) imagination 4) attitude
62- The heavy rainfall has ... vegetable prices to rise daily for the last two months.

1) sold 2) included 3) caused 4) added
63- The fact that he did not ... any money shows that he is an honest man.

1) accept 2) respect 3) produce 4) prepare
64- Create rooms that ... your personality and are suitable for the way you live.

1) repeat 2) reflect 3) complete 4) discuss
65- My wife showed unique ... in decorating the room.

1) combination 2) idea 3) income 4) taste
66- He always seemed to me to have a kind heart, and that is the quality I ... most in people.

1) match 2) introduce 3) vaue 4) develop
67- He even made my reservations and ... me a discount.

1) took 2) got 3) did 4) made
68- Some researches have shown that people without brothers and sisters tend to be less ... .

1) natura 2) rich 3) touching 4) sociable
69- Thailand supermarkets use banana leaves to package food ... plastic to avoid unnecessary plastic

waste.

1) based on 2) by means of 3) in the form of 4) instead of
70- Traveling ... the risk of heart attack and depression and supports brain health.

1) moves 2) experiences 3) decreases 4) faces

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on
your answer sheet.

Your name is very important. When you think of yourself, you probably think of your name
first. It is an important part of your ...(71)... . Right now, the two most popular names for
babies in the U.S. are “Jacob” for boys and “Emily” for girls. Names can become popular
because of ...(72)... actors, TV or book characters, or athletes. Surprisingly, people generally
agree on the way they feel about names and have ...(73)... opinions about certain names. Why
do parents give their children unpopular names? The biggest reason is ...(74)... . Many people
are named after a family member. Of course, opinions can ...(75)... over time. A name that is
unpopular now might become popular in the future.

71-1) nation 2) society 3) identity 4) diversity
72-1) serious 2) famous 3) local 4) moral
73-1) different 2) opposite 3) common 4) worrying
74- 1) expression 2) similarity 3) existence 4) tradition
75-1) fall 2) change 3) follow 4) rush
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PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct]
choice on your answer sheet.

76-

77-

78-

Typically the queen honeybee is mother to all the bees in a hive; after mating with several
male drones from other colonies, she lays fertilized eggs that develop into all-female worker
bees and lays unfertilized eggs that become all-male drones. When a queen dies, workers often
lay unfertilized eggs that hatch into drones. Yet workers rarely reproduce while a queen
reigns.

According to natural selection theory, a worker would enhance her fitness—or ability to
propagate her genes—by hatching her own eggs in addition to or in place of the queen’s. But a
typical worker’s fitness would be diminished if other worker’s sons, who have less genetic
material in common with the worker, supplanted the queen’s sons (the worker’s brothers).
Researchers, testing the hypothesis that workers usually somehow block each other’s attempts
to reproduce, put unfertilized eggs laid by worker’s and by the queen into a hive. Other

workers quickly devoured the worker’s eggs while leaving the queen’s eggs alone.

The author refers to the experiment described in paragraph 2 in order to ... .

1) show that worker bees are able to prevent each other’ s attempts to reproduce

2) provide amodel of daily lifein atypical honeybee hive

3) show the universality of natural selection

4) explain how worker bees are prevented from mating with drones

The passage suggests which of the following about the eggs laid by worker bees?

1) One of the eggs hatches into the next queen.

2) The eggs are invariably destroyed by other worker bees.

3) Each worker tries to hide her eggs from the other worker bees.

4) The eggs are less likely to be harmed by other workers if the queen is dead.

What does the pronoun “she” in praragraph 1 refer to?

1) queen honeybee 2) mother 3) male 4) worker

The underlined word “enhance” in paragraph 2 is closest in meaning to ... .

1) improve 2) decrease 3) suggest 4) interest

The passage best supports which of the following inferences about the fitness of honeybees?

1) Anindividual worker’ s fitness can be maintained without the individual herself reproducing.

2) Reproduction diminishes any individual honeybeg’ s fitness.

3) While a queen reigns, the fitness of the worker beesis increased and that of the drones is diminshed.
4) Fitness encourages worker bees to hatch honeybee eggs without regard for the relatedness of the
young to the “parents”.
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